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Answer alf the questions.

Questions are of equal value,

Signaiure of the Candidate:

INSTRUCTIONS

Candidates should read the following instructions carefully before answering the questions:

1

-2

This booklet consists of 12 pages including this front page, containing 100 questions. Verifly the
Page Nos. and Test Booklet series on each page and bring at once (o the Invigilator's notice
any discrepancy.

Answers will have to be given in the Special Answer-Sheet supplied for the purpose,

Before you proceed to mark in the Answer-Sheet in response o various items in the Test Booklet,
you have to fill in some particulars in the Answer-Sheet as per instructions sent to you in the Admit
Card, Do not fold the Answer-Sheet as this will result in errer in your marks,

All questions are of multiple-choice answer-type. You will find fomr probable answers (A), (B),
(C) and (D) against each question. Find out which of the four answers appears to you to be comect
o the best, Now darken the circle comesponding to the letier of the selected answer in the Answer-
Sheet with Black Ball Point Pen as per instructions printed on the reverse of the Admit Card
and in the Answer-Sheet.

One and only one circle is o be fully blackened for answer, Any spot in any other circle {multiple
circke) or in wrong circle will be considered as wrong answer. [f more than one circle is encoded
fof @ particular answer, it will be treated as & wrong answer.

There will be nepative marking of % mark for each wrong answer,
There is a blank page at the end of this Booklet for Rough Work.

The Special Answer-Sheet should be handed over to the Invigilaior before leaving the Examination
Hall You are permitted to take away the used Tesi Booklet after completion of the examination,
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1. Give the correct quantifier
[ did not have _ problem in locating your
resklence,
(A0 T
(B} =ome
(C) any

(D) mikny

2. Cenartne medicine 18 &
focuses on healthcare of

[

spieciality that

Animmals
(B) Tecnagers
(C) Hear Patientz

(I Elderly people

Fad
.

‘Marble” may be used with
(A Painting

(B) Music

(T} Focks

(D) Sculptures

4. Choose the correct meaning for the idiom:
"Toadd fuel to the fire”
(A) Toleave
(B} To set things on fire
iC) A useless jourmey

(D) To make a bad siuation worse

= An indefatigable person remains
(A}
(B)
(Ch
(D)

untired
unhappy
wnrelantful

wnsocial

6. Fill in the blank with appropriate word
You can take of the books.
(A)
(B}
i
()

cach
cither
EVEry

any

7. Choose the cormect word.
Only

(A

(B}

| g

(D)

people aifended the meeting
few
fEwer
o few

viery few

8. Fill in the blank with correct inlerrogative
did vou pay for the bag?
(A) How muoch
(B} How many
(C) What
(0 Whose

9. A Dermatologistis & person who deals with
(A) hear
(B} eyves
() skin

(D} lungs

10. Cuve the noun form of the verb:
Civilise
(A) Civalised
(Bl Civilization
(C) Civie
(D) Crl




11, Fill in the blank with comect phrasal verh,
gnew chapter tomommow,

The teacher will
(A) take over
(B) take up
{C) take down
(D} take off

11, Entomologists are people who study
(A) birds
(B] whales
iC) human Beings
(D) insects

13, Use infinitive:
fior hiours 13 sirenuons,
(A) Toswim
(B) Tobe swimming
(C) Swimming
(L) Swam

14. What do you mean by:
Wild goose chase:
{A) Useless journey
(B) Totell a secret
(€} Toexamine
(D) Tomn

15, Fill in the blank with appropriate word,
The students submitted the answer sheets
{A) ontime
(B in time
(C) after ime
(DY) beside time
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16. Give the meaning of the phrase:
"Building castles in the air.’
(A) day dreaming
(B} in fashion
(C) with a warm weleome
() 1o make effons

17. Give the correct meaning of the idiom,
To drop in:
(A} To pat into action
(B} Tovisit casually
{C} To throw things out
(D) Tocomplete

18, The Superlative form of *Badly® is:
(A Most badly
(B) Worst
(C) Least badly
(D Worse

19. Fill in the blank with the correct word,

The post office is down the road after
}'-IJi.l EISS th: MUuSEUm.

A} Farther

(B) further

(Cy Father

(D} falter

2. Fill in the Blank wath the correct form of

yerb,
The missn in the starry sky and it looked
beautiful,

[A) mse

{B) rising

{C) hed risen

(D) rose
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11. Sepluagenarian is & person
{A) between 60 vears and 69 years,
(B) between T vears and 79 vears.
{C) between T vears and 17 years

(I} Born in September

22. Give the correct antonym of the word:

Lty
(A) Cheerful
(B Ewvil

(C) Misery
([ Innocent

23, Fill in the bianks with appropriate word
phrase.
She
fime,

refurm my badmintomn sef in

{A) would mather
(B} raiher than
(L) had betier
(D) had already

24. Fill in the blank with correct determiner
stodent of class was given one siory
book. : :
{A) Few
(B) Each
(C1 Much
(L) Many

25. Give the verb form of the noun:
Throne:
(A} Throwing
(B} Thrown
(C) Dethrone
(0 Thromed

A4

26. Select the cormrect meaning of the idiom
underlined.
| was whally (o a fix when I had my practical
eRAMminaion.
(A} 1D lose courage
(B) 10 be afrud
(C) in trowhle and difficulty

(D) in dangerous situation

27. Give the correct synonym of the word;
Bliss:
{A) Light hearied
(B} Happiness
(C) Magniticent
(1) Flounsh

28, Give the appropriate preposition
Can you pay for the painting credit card T
(A) Eroem
{B) by
{C) for
(D} of

29, Add a comect prefis to the word:
Circle;
iA] Un
(B In
() Unider

Dy En

30. Fill in the blank with appropriate form of
v,
Willinm Shakespears liked
(A o write
1B wre
{C) was writing

plays.

(D) 1o writing




31 In which year did Bankim Chandra write
*Angndamath™?

(A) |B5E

{B) |BD2

(C) 1582

(D) 1872

32. The Statue of Unity is in
(A} Muaharashtra
(B} Gujara
(T} Tamil Nadu
(D) New York

33, The NITI Aawos was established on
{A) January |, 2015
(B} April 1, 2013
(C) December 11, 2016
(D) January 26, 2017

M. Onincreasing the price of TV sets by 30%:.,
their sale decreases by 200%. What is the effecton
the revenue receipts of the shop 7

(A} 4 % increase
(B) 4% decrease
(L) B% increase
(D) &% decrease

35, Allthe following are computer input devices
excepl for
(A) Keyboard
(B) Printer
() Mouse
(D) Joy Suck

REC/IY

3. Which of the following is not one of
PowerPomnt's view?
(A1 Slide show view
(B) Slide view
(C1 Presentation view
(D) Outline view

37, There are six books A. B, C.,D.E F.B.C
and E have blue cover while rest have red covers.
D, F are new books while rest are old books. A, C
and I are law report while rest are Physica, Which
1 red covered new law book?

(A) D
{B) C
(C) B
D) A

S8, The 103rd Constitution Amendment Act is
related o

(A} Abolition of Special Status to
Jammuy & Kashmir

iB) Inroduction of GST

(C) Beservation of jobs under the OBC

Category
(D) Reservation with respect (o the

Economically Weaker Sections
(EWS)

39, The highest wickemaker i ICC Men's
World Cup in 2019 was
{A) Mitchell Starc
iB) Jasprit Bumrah
iC} Mohammad Shami
(D) Shakib Al Hasan

40. The SAARC headguarters is Iocated in
{A) Mew Delhi
B} Kathmando
(C) Dacca
(D) Colombo

Please Turn Ower




REC/19

41. What should come in the place of *7 in the
fodlowing sequence?
86014734 3G
(&) 9
(B) 12
[ . 1
(D} 18

42. Which Sanctuary in Kerala is known for
elephant?
(A} Parakal
(B} Penvar
(C) Chandraprabha
{3} Kanha

43, Whoofthe following was the Peshwa known
in history as ‘Nana Saheh’?
(A} Bap Rao ]
(B) Madho Rao
{£) Balap Bap Rao
([} Bap Eoo

#H. Science of time is callad
(A} Homology
(B) Harology
(Cy Timology
{1} Chronology

43, LCM of two numbers iz 12 times of their
HCF . Sum of LCM and HCF is 195, If one of them
15 60, find the another

(A) 48
(B 45
() 52
(D) 36

A-6

46, Letiers of the word UNDERTAKING are
arranged in alphabetical order. Which letter will
be 10 the middle position?

(Al M
(B) K
o |
D) G

47. Which naton wall kost the 2022 FIFA W orld
Cup?
{A) Brazl
(B Japan
(L) Ialy
(D Chatar

48. X walked 35 meter towards South then
turned left and walked 25 meter and again turned
left and walked 35 meter. Then he turned to his
nght and walked 20 meter. At what distance and
direction from the starting pointis X now standing?

(A) 45 meter BEast

(B} 45 meter North
(C) 20 meter West
(D} 5 meter East

49, From which meno you can insert Header
and Fooler?
(A) Inserd Meny
(B) View Menu
{C) Format Meno
(D} Tool Menu

0. Which of the following figures i% different
from others?

[AY Cylinder
(By Cone

(T} Sphere
(¥ Hemisphere




51. If 10% of an electricity bill is deducted |
T 45 is still 1o be paid. How much was the bill?
{A) T 50
(B ¥ 40
(C) T35
(D ¥ 54

5L 15 used when computer programs
are trmed om. 1t is cleared once the maching s shut
off,

{A) The network interface

(B) The optical disk

(C) Random Access Memory (RAM)
(D} Read Only Memaory (ROM)

53, Which of the following is the odd one?
(A) Coffee
(B} Milk
(C) Sugar
(D} Tea

&4, If + stands for division; = for addition;
- for multiplication; + for subtraction then
+bh-Ixisl=?

{A) 20
(B) 33
(C) 4
(D) 37

55, The least number of five-digit which is
exactly divisible by 12, 15, 18 is

(A) TOOTD
(B) 10015
(C) 10020
D) 10080
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56, Who was the author of ‘Gita Rahasva™!
{A) Swami Vivekanands
(B} Bal Gangadhar Tilak
(C} Ramaknshno
(1) Nong of them

a7: Where is the Bandipur National Park?
{A) Rajasthan
(B1 Andhra Pradesh
() Assam
(D Karmateka

S8. What feature will you use to apply mation
effects in-between aslide exits and anoiler enters?

(A) Slide Transition
(B) Shde Design

(C) Animation Ohjects
(D) Animation Scheme

59, For what is Philadelphia well-known T
(A} Ship-building
{B) Dairy industry
(C) Locomotives
(D) Silk rextiles

6. The fatest demonetization in India was
announced in

(A} Movember 2016
(B} November 2017
(C) Movember 2018
(12} December 2018

Please Turn Owver
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61, A man sold 250chairs and had a gain equal
to the selling price of 50 chuirs. His profit per cent
is

(A) 5%

(B) (%
(C) 25%
(D) 50%

62. Paint ; Artist ;; Wood ; 7
(A) Furniture
{B) Forest
{C) Fire
(D) Campenter

63, The numbers between 200 wnd 200 which
when divided by 6, B or 9 leaves remainder B in
euch case ane

{A) 216,248
(B) 2247296
() 210,244
(D} 224 28K

64, | Gigabyte (GB) is equal 1o
(A) P24 bytes
(B) 1024 KB
{C) 1024 MB
(Cy 1024 TH

65, What is the first process launched by the
Linux Kemel?
{4 Hool procegss
(B) Init process
(C)} Batch process

(D) Zombie process

66, Which of these do not provide free E-mail?
(A) Hotmauil
(B) Rediff
(C) WhatsApp
1D} Y abiod

67, Every computer connecied 1o the internet is
identified by a unigue four-part string, known as
iA) IP address
(Bl Host pame
(C) Domain neme
Dy URL

6. FAT stands fior
(&) File Activity Table
(B} File Accommuodation Table
(C) File Accumulation Table
(13} File Allocanon Table

69, 4 vears ago, Shyam's age was 34 times of
that of Ram. 4 vears hence, Shvam's age will be
30 times that of Ram . What is the present age of
Shyam?

(A) 15 years
(B) 20 veurs
(C) 16 wears

(D 24 vears

0. Mukesh has rovice as much money as Sohan
and Sohan has 50% more money than what Pankaj

has. If the average money with them i5 % 110, then
Mukesh has

(&) T 55
(B} T 60
() ot

i T 180




T1. | yearago, a father was four times as old as
his son. In 6 years time his age exceeds twice his
son's age by Y vears. The ratio of their ages is

(A) 13:4
(B) 12:5
Cy 13
Dy 9:2

! 72 “Saamma’ is the mouthpiece of which
palitical party?
(A) Shiromont Akali Dal
(B) Bhartiya Janata Party (BIP)
(T Biju Janata Dal (B1D)
{D} Shib Sena

73, Who isthe present Governor of the Reserve
Bank of India?
| {A) Unit Patel
| (B) Shaktikanta Das
- (C) Raghuram Rajan
: (0 Mone of them

T4, Whatis measured by the sling peychometer?
{A) Temperature
(B} Humidity
[ : (C) Pleasure
(D) Mone of the above

75, A is father of B, C 15 brother of A, F 1s
gister of B. If M 15 father of A, then what 15 the
relationship between F and C7

{A) Futher and daughter
(B) Husband and wife
() Brother and sister

(D} Miece amd uncle

I - T e s
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T6. The minimum distance between the Sun
and the Earth occurs on
{A) December 22
(B} January 3
(C} June 21
{D} September 22

77. If DEVICE coded as BAREXA and
DORMNATE 5 coded as ZVMESA, then what code
will be for VIDEO?

{A) RIBAZ
(B) REBAZ
(C) REABZ
(D)) RABEZ

78. Gandhiji founded Satvagraha Sabha in 1919
to protest against the
(A} Salt Law
(B) Rowlatt Act
(C) Government of lndia Act, 1919
(D} Jallianwala Bagh massacre

79, MEC siands for
(A} Mesw Begistrar of Citizens
(B} Non Regisirar Citizens
(C} Mational Register of Citizens
(D) Non Resident Citizens

B, Analloy contains 10 gm Copper, 20 gm Tin
aind 200 g Silver, What is the percentage of
Copper in the alloy?

(A) 20 %
(B) 25%
iC) 30%
(D) 1%

Flease Turn Over
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B1. Whach financial starement represents the

accounbing equation—Assels = Liabikites +
Owner's Equity?

[A) Income Statement

{B) Statement of Cash flows

(L) Balance Sheel

(D Mone of the above

82. Which of the following siatements
distinguishes business from entreprencurship?

(A) Entrepreneurs are the business owners
bows,

(B) Allbusiness ownersare enlhepreneurs
b,

(C) Entrepreneurs seek oul new
opportunitics and pursuc nnovaiive
hasiness ldeas

(D) Both (A) and (B)

&) An entity shall prepare its financial
giatements, except for , using the
seorusl basis of accounting.

iA) Balance Shes

(B} Profit and Loss
() Changes in equity
(D) Cash flows

a4, [ntermal Environment includes
{A) Custonwer
iB)} Economic
(C) Demography

{0 M iseaoa sl 1_'I|‘_:-]g'r[:|l.q'=

B85 The financial statement that reflects
information about the fingncial performance of an
entity is referred o as the

(A} Cash Flow Staement
|_|:_'|I ||1|.'||H|-r_' I;I.'lln:rrlr.'rﬂ
(') Balance Sheed

{1} Mvome of the above

A-10

Ba, Which of the following i8fare factor(s)
considered for measurement of depreciation’!
(&) Cost of asset
(B Life of aszet
(C) Scrap value
(M All of the above

87, Working capitalisthe excessof
OVEr
(A Fixed Assets, Currenl Asgets
(B) Current Assets, Current Liabilites
(C) Mon-corrent Assets, Current Asseis
(1} Fixed Assets, Carment Liabilites

BB, The assets that can be easily converted info
cash within o short period (1.¢., one year or less) in
known as

(A) Current Assers
(B} Fixed Asscis
(C) Inmpgible Assets
(I} Investments

Y. i a technology where the
banking organizations resort (o the wse of
electronics, computers and other networks 1o
execule ranspcions and ransfer funds,

{A) E-cash
(B} Digi-cash
(C) Hedge
{13} Cap

o0, Presence of subordination

inevitably brings chaos and dizsorder.
(A) dual
(B} sngle
() Baoth (&) andd (B
(D} None of the above
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91, Inventories aredefined toinclode all, except
(A} work in progress arising under
construction contracts including
directly related service contracts.
iB) financial instruments.

i) binlogical asses related to agriculiural
petivity and agricultural produce at
the point of harvest,

(D% All of the nhove

92, The accounts related to expenses o losses
and incomes or gains are called
(A} Personal accounts
iB) Representative Personal accounts
(C) Mominal accounts
(D} Real accounts

93. What 15 not a charscteristic of business
environment?
(A) Complex
(B) Static
(C) Muli-faced
(D) Far reaching

%4, Relationship between orgunization and
environment can be described through
{A) exchange of information.
{B) exchange of resources,
(C) exchange of influence and power.
(D) All of the above

95, Which of the following isfare least likely to
be true regarding accounting?

(A) Accounting is an art of recoding,
classifying and summarizing in a
significant manner and in terms of
maney, iransactions and events which
are in part at least of a financial
characier,

(B) Accounting provides financial
information (o stakehokders normally
via financial statements.

iC) Accounting provides information only
to the external vsers.

(B All of the above

REC/1%
96. Which of the following is the principle of

direction?
{A) Harmony of objectives
(B} Unity of command
(C) Follow up
(D) All of the abave

7. involves. issuing orders o
subordinates and supervises how these orders ane
carmed out by them, and if necessary, motivates
the employees for higher performance.

(A} Supervision

(B} Directing

(C) Leading

(D) Mone of the nbove

9%, Sustninable developmentbusinessesimply
(A} Consistent economic performance
(B) Atention to social problems
(C) Harmony with nature
(D) All of the sbove

99, What do the items comprise in o complete
set of financial statements?

iA) A balance sheet as ut the end of the
period, a statement of profil and loss
for the period and statement of changes
in equity for the period

(B) A statement of cash flows for the
period

(C) Notes, comprising & summery of
significant accounting policies and
other explanatory informations and
comparitive information 1n respect
of the preceding perind

(D} None of the above

100, The atribute of a profession does not inclode
{A) rendering of specialized nature of
EETVICES,
(B} cenificate ofservice from govemment,
(C) self-imposed code of conduct
Dy All of the above
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